Options Theory Formulae:

Consider the ruling planets as below:
Ruling Planets:

I)Ascendant Star Lord
II)Ascendant
[l)Moon star lord
IV)Moon Rasi lord
V)Day Lord

For Nodes consider their rasilord.

Do not considers RPs in retro constellations.

Aeries =1,Taurus =2, Gemini=3, Cancer =4 Leo =5, Virgo =6, Libra=7, Scorpio =8,Sagittarius =9,

Capricorn =10, Aquarius =11, Pisces =12

Add the Rasi Numbers for : |to V i.e. Ascendant star lord, Ascendant, Moon Starlord, Moon
Rasilord, Day lord after removing RPs which are in retro constellation. Consider Rasilord of
Node instead of node if found in Ruling Planets.

Consider table 1 or table 2 as per options are single digit or multi digit.

TABLE 1 Options upto 9

Single Digit RPNo < Options Direct Answer

Single Digit RP No. > = options | Deduct options from RP No.
repeatedly

TABLE 2 Options 10 or more

RP Number <= Options Direct Answer

RP Number > options Deduct options from RP No.
repeatedly

Get the Right Option indicated by Divine Grace!
(Read the full article on 'Options Theory' by me)
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